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Q-1

f)

9)

h)

Attempt the following questions:

Penetration test on bitumen is used for determining its
(A) Grade (B) Viscosity (C) Ductility (D) Temperature susceptibility
The maximum limit of water absorption for aggregate suitable for road

construction is
(A)0.4% (B) 0.6 % (C) 0.8% (D)
The ideal shape of a transition curve,

(A) Clothoid (B) Cubic spiral(C) Cubic parabola (D) Lamniscate

1.0%
is

The most suitable equipment for compacting clayey soils is a
(A) Smooth wheeled roller (B) Pneumatic tyred roller

(C) Sheep foot roller (D) Vib

If aggregate impact value is 20 to 30 percent, then it is classified as

(A) Exceptionally strong

(B) Strong

(C) Satisfactory for road surfacing
(D) Unsuitable for road surfacing

rator

Flexible pavement distribute the wheel load

(A) Directly to sub-grade
(B) Through structural action

(C) Through a set of layers to the sub-grade

(D) None of the above
In case of a multi-lane road, overtaki

ng is generally permitted

(A) From right (B) From left

(C) From both sides right and left

(D) Not at all

In welded wire mesh, the longitudinal wire is placed at

(A) 10 cm centres  (B) 15 cm centr
(C) 20 cm centres (D) 25 cm centr
Creep is the

(A) Longitudinal movement of rail
(B) Lateral movement of rail

(C) Vertical movement of rail

(D) Difference in level of two rail
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j)  The main function of a fish plate is
(A) To join the two rails together
(B) To join rails with the sleeper
(C) To allow rail to expand and contract freely
(D) None of the above

k) Two important constituents in the composition of steel used for rail are
(A) Carbon and silicon (B) Manganese and phosphorous
(C) Carbon and manganese (D) Carbon and sulphur

I)  Which of the following types of sleepers is preferred on joints?
(A) CST-9 sleeper (B) Steel trough sleeper
(C) Wooden sleeper (D) Concrete sleeper

m) Pandrol clips cannot be used with
(A) Wooden sleepers (B) Concrete sleepers
(C) CST-9 sleepers (D) Steel trough sleepers

n) Normally maximum cant permissible in Meter Gauge is
(A)75mm (B)90 mm (C) 140 mm (D) 165 mm

Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

Q-4

Q-5

Q-6

Q-7

A
B

o >

@ >

@ >

@ >

Attempt all questions
Enlist the types of gradients and explain any three gradients.
Draw the intersections of different types of roads as per IRC.

Attempt all questions
Write the factors affecting Gradient.
Explain the importance of road drainage and its types.

Attempt all questions
Explain the importance of highway drainage.
Explain CBR test for highway base soil.

Attempt all questions
Write difference between Flexible pavement and Rigid pavement.
Draw any two names of imperative signs.

Attempt all questions

Discuss the different parts of a bridge.

Explain the importance of bridges.

Attempt all questions

Prepare a list of various basic details required for determining the
location of the bridge.

Explain the importance of erosion effect.

Attempt all questions
Explain the requirements of a bridge foundation.
Explain the requirements of an ideal railway.
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Q-1

f)

9)

h)

Attempt the following questions: (14)
(QeRet UR W26t 2220l GUAL Aol [Auiel HE U B

(A) AS (B) Rl (C) st cll (D) clluHlotell At
Raclloll ciustH 12 0L suAl w2 well ainetefl HeH Hallel

8
(A) 0.4 % (B) 0.6 % (C) 0.8 % (D) 1.0 %
UsHRL dnisall BUEL WISIR B

(A) sAAAES (B) (s AUlsIR (C) RJ(As ARGl (D) Abade
HElol o{lotal SL10s2 sRal Hiz Al 200U AUlat .

(A) & cgles AR (B) YARS ataus AR

€) dlu g2 AR (D) cusder

Bl suAl W2 grse e 20 Ul 30 25t 8l Al dxl L 3ld
(s scuHl wWa ®

(A) HUUALEIU HAO|

(B) U0l

(C) As URXRdL M2 AAMSIRS

(D) As URBRODL 12 w0

sA[@ud VaNoe dld Alse] [Adrul 52 B

(A) AUl Uo-IsHl

(B) HlauslaL (52 gL

(C) UL-ISHL Rell UM &R

(D) GURscHill A o8l

HEL-Aot Asell (B, vllaR(Eote{l wHeA A uResdll B
(A) sHR (B) staell

() HR(l A stell vial sgell (D) (Actge o8l

AES cllAR HAHL, ML AR UR HSAHL A &

(A) 10 A 3oal (B) 15 Al 309

(C) 20 AL 302l (D) 25 Al 309

slu B

(A) ol uial Yoo

(B) 2ctoll cioyell Buct
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() 2ol Gell Bt
(D) A AUl ARML dslald
D B WQee] yuau sl B
(A) 6l ol VAL slscll HL
(B) lUR WA A Hlsal HI2
(C) RcAal Y5cAUBL (ARl U 52AR sRclloll Hogdl wucll
(D) GURAsHI 515 otel
K) Yt w2 cuRldl ¥letoll uatidl A Hecayd u2sl B
(A) slelat A RASIL (B) Ale{los ual slagu
(C) stolat A HWIle{ls (D) slolol Wl UCE
) ol Acttmiall sau ystretl eflud] dial uR ue scuHl 2 B2
(A) CST-9 KlUR (B) el 2% eluR
(C) csslatl Uz (D) slie efluz
M) Vodlet EAUA GULDL 531 st otell
(A) ctsslall Alud (B) sl5e e{lud
(C) CST-9cludd (D) ¥t 25 wllual

N e A Hledewul HedH yefHQuUIAL B
(A) 75 mm (B) 90 mm (C) 140 mm (D) 165 mm

Attempt any four questions from Q-2 to Q-8

Q-2
A

Q-3

Q-4

Q-5

Attempt all questions

3LOL oll YsR ol el clottell slefuRl uRL AL alon (A9 UHestAl.

IRC YUHIOl %EL YEL USIRall AS all MSDE ENRN.

Attempt all questions
3lOL A WAR 5l URBna esRul.

Racllotl JA%o{l AdlRIAL AUl Aol YslRe{l AMRL AL

Attempt all questions
slesd Ja1% ofl AdlRAL UM

23] Holotl wiadtell 3l HI2 CBR 22 UMl

Attempt all questions
R $UG Wl a3 sRUL] AR dslald .

W AHS @Ae{lRAA ottH 20l oA A A €13
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Q-6

Q-7

Attempt all questions

Yol QA ol ofl gs ui AL 52,

YA ofl 10l AMesAl.
Attempt all questions

Yol et [Auiel W2 %33l [QAu ya@s (Qatdl ol el

daR s
tletliloll ARl wdlRUAL wRUA

Attempt all questions
Yctoll wadsll a3Radl wsiudl.

uled vl 3Rl weud.
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